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QUESTION 1

Identify what is wrong with this statement: "If I have 4 SOAP-based Web services, I must have 4 WSDL definitions and
4 XML schemas." Select the correct answer. 

A. SOAP-based Web services don\\'t use XML schemas for their WSDL definitions. 

B. WSDL definitions can share the same XML schema and can also link to multiple XML schemas, so stating that 4
SOAP-based Web services must have 4 XML schemas is incorrect. 

C. Each WSDL definition must have at least 2 XML schemas, so the correct amount of required XML schemas in this
case is 8. 

D. There is nothing wrong with this statement. 

Correct Answer: B 

 

QUESTION 2

Which type of MEP is not encouraged by the WS-I and also not supported in WSDL 2.0? Select the correct answer. 

A. round-about 

B. intermediate 

C. call-back 

D. outbound 

Correct Answer: D 

 

QUESTION 3

Which of the following statements makes sense? Select the correct answer. 

A. I discovered the service I was looking for by using WS-Addressing to issue service search queries. 

B. I discovered the service I was looking for by building a WS-BPEL process definition. 

C. I discovered the service I was looking for by searching the UDDI-compliant service registry. 

D. None of these statements make sense. 

Correct Answer: C 

 

QUESTION 4

Which of the following statements is true? Select the correct answer. 
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A. WS-ReliableMessaging establishes a framework that provides an industry-standard means of transforming XML
schema-based data models. 

B. WS-ReliableMessaging establishes a framework that provides an industry-standard means of rolling back changes
that occur during a runtime service transaction. 

C. WS-ReliableMessaging establishes a framework that provides an industry-standard means of reliably communicating
policy enforcement rules. 

D. None of these statements are true. 

Correct Answer: D 

 

QUESTION 5

Which of the following are industry standard technologies related to the processing of XML-based data? SELECT ALL
THAT APPLY 

A. XData 

B. XQuery 

C. XSLT 

D. XWeb 

Correct Answer: BC 
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